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E;[ = | B| iff there exists a bijection f: A — B. .

f:+A— Bisa bijection iff fis 1:1 and f is onto. / nd{- él:}‘

iff  fisnot 1:1 OR f is not onto. ¥ et | l.} (w'l‘

not 111 corregpay/
etermine if the following functions are bijections. If a function is not a bijection, state
why and determine if you can create a bijective function by changing the co-domain.

\

2.) f:[0,00) = R, f(z) =2 l V]O+ a 'FU”CF(dh
. L N
| /J o == i

3.) f:[0,00) = [0,00), f(z) = =

4) f:R— R, f(x) =23 _—

5) f:R— R, f(z) =2

6.) f: R— R, f(z) =8z +2

7) f:R—= R, f(z)=22+32

8)f:R— R, flx) =¢"

9.) f:R—R, f(x) =xz*+2°

10.) f: R — R, f(z) = sin(x)



f:A—-Bis1l:l iff [f(ml) =f(:r:)limplies T1 = Ta.

fiA—-Bisl:l iff =z # zo implies f{z1) # f(z2).

f:A—- Bis 1l iff for all 21 # xo, f(x1) # f(z2).
f:A— Bis NOT 1:1 iff there exists x; # zq such that f(z1)} = f(z2).

AN
Determine if the following functions are 1:1. Prove it. >) 1
A -1~
1) f:R— R, f(z) = 22 ?

-C(l): ]=-ﬁ(—l) Sin en C!)l

!
™
—

>

2.} f:[0,00) — R, f(z) = z? a2

Su/’,o.f( C(K():p(xz_> "—-—7:-) Xll": )( -:'—:D X] ::};M

3.) f:[0,00) — [0,00), f(z) = 27

Same asdon £ G2

4) f:R— R, f(z) =2°

5) f:R— R, f(z)=2

6.) f:R—R, f(z)=8zx+2

7) f:R—R, flx) =%+ 3z

8)f:R—R, f(xr)=¢"

9) f:R— R, f(z) = 2* + 22

10.) f: R — R, f(z) = sin(z)



